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ARITHMATIC: BANK:

(SSC/BANK/CUET/CSAT/STATE GOVT)
Number Series

Time and Work Quadratic Equation
Pipe and Cistern Simplification
R Approximation

Profit Loss and Discount

Compound Interest Data Interpretation

Simple Interest

S Mensuration
Average
Ratio and Proportion Permutation
Based of Ages Combination
Partnership

Probability
Mixture and Alligation

Time Speed And Distance
Train
Race
Boat and Stream

SSC:

Number System
LCM + HCF

Surds
Indices

Algebra

Trigonometry
Height and Distance

Geometry

Mensuration-2D
Mensuration-3D

Co-ordinate Geometry









Sum of terms
Number of terms

Average =

Average = Equal Distribution (Balancing Point)



Average-3 (Addition/Subtraction)
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The average weight of a class of 34
students is 44 «g. If the weight of the

teacher be includ’:d, the average rises
by 500 g. The weight of this

(a) 55 kg (b) 57.5 kg
(c) 58 kg (d) 60 kg
(e) 61.5 kg







Th rage age of 47 girls and their
acher’s) age is 18.5 years. If the
teacher’s age is (excluded, the

average reduces by 6 months. What
is the teacher’s age ?

(a) 35 years (b)42years
(c) 30 years (d)29years (e)
None of these




The average weight of 5 persons
sitting in the boat is 38 kg while %he
average weight of the boat and
persons sitting in the bozt is 52 «g
then what is the weight of the
boat?

(a) 135 kg (b) 142 kg
(c) 130 kg (d)120 kg
(e) None of thes:2










The average age of 30 students of a class is
14 years and 4 months, but due to the
admission of five new students, the
average becomes 13 years 9 months. If the
age of younger admitters in the new grzup
is 9 years and 11 months, then what is bz
average age of the remaining 4 students?

(a) 13 years 10 months
(b) 14 years 2 months (c) 13 years
(d) 10 years 4 months (e) None of these
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The average weight of the first 11 people

ng 12 people are 95 Kg if the weight of
@is 33 kg more than the average weight

of all the 12 geoge, then what is the
average weight ot the 12th person?

(a) 135 kg (b) 142 kg
(c) 130 kg (d)131 kg

(e) None of these




i

The average of runs scored by a - &7
player in 10 innings is 50. How many

runs should he score in the 11 Q — QQ
innings so that his average is,i\/ it s

increased by 2 runs” —- &/
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(a) O runs (b) 72 runs

(c) 60 runs (d) 54 runs
(e) None of these



If a batsman score 127 runs in his
20th innings so that his average
score will be increased by 5 runs

per innings, then find his current
average?

(a) 35 (b) 27 (c) 30
(d)32 (e) None of these
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A cricketer Whose browling_a\g@sg@ 4 '\‘ G = 924- 9
\C '

Runs per wicket if he takes 10 vsickets by
giving 52 runs in the next match, so his
bowling average will be improved by 0.8 7/

runs per wicket then find his total no of
wickets taken by hi m

S
(a) 240 wickets 4{) 245 wickets o M

(c) 235 wickets (d) 220 wickets = 0 19/ 1//&3 §

(e) None of these







If 3 years ago the average age of a
family of 5 members is 27 years if the
present average age of the family is
27.5 years after the inclusion of a
Find the present age of the
child?

(a) 12.5 years (b) 14.2 yez
(c) 13 years (d)12years
(e) None of these




The average age of a family consisting of husband,
wife & son, at the time of marriage of their son is
40 yrs. After three years of the wedding, a baby
girl was born. When they celebrated their 10t
wedding anniversary the avg age of the family is

37 yrs. Find the age of the Bride at the time of her
marriage?

(a) 18 yrs (b) 19 yrs
(c) 20 yrs (d) 28 yrs
(e) None of these







